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BRI | No. | (BGGBE) | s | HE | Bt SaEs| B | B | B [BE/H &7 |£7= WE
1 |037| VI B5 6 | 27 | 936 |34.67| 9 |0.33| 8 |0.30| 12 |0.44 | 15
2 |034| BH= =i 4 | 21 [728 |3467 | 8 |0.38| 4 |0.19]| 12 |0.57| 9
3 | 180| s&# wE 5 | 23 | 711 30091 | 9 |0.39| 5 |0.22| 10 |0.43| 13
4 |013| %@ =@ 6 | 19 [567 |29.84 | 7 |0.37| 2 |o.11]| 11 |0.58]| 8
5 |140| g6k f@—es | 5 | 21 | 597 |2843 | 7 [0.33| 3 |0.14| 13 |0.62]| 8
6 |087| ®AH A% 5 | 16 | 443 [27.69 | 4 |0.25| 4 |0.25| 8 |0.50| 8
7 | 131 vz A 4 | 18 |464 |25.78 | 4 |0.22| 4 [0.22| 8 |0.44] 10
8 |185| AW @ 6 | 290 [ 730 |25.17 | 7 |0.24| 5 |0.17| 14 |0.48] 15
9 |029| ®mE = 5 | 23 | 576 [25.04 | 6 |0.26| 3 |0.13| 11 |0.48 | 12
10 | 058 | *HMA 3 | 12 | 296 [2467 | 2 |0.17| 2 |0.17| 6 |0550] 6
11 |194| BE =S5 5 | 19 | 421 [22.16 | 4 |0.21| 2 |o.11| 11 |o0.58 | 8
12 |095| #E f@Aes | 6 | 18 | 398 |22.11 | 4 [0.22| 1 |o06| 9 |050]| 9
13 | 005| #A #&H 6 | 27 |544 |2015 | 6 [0.22]| 4 |o.15| 13 |0.48 | 14
14 |070| £5 @& 4 | 20 [340 |17.00 | 4 |020| 1 |o0.05| 9 |0.45] 11
15 |014| Al &R 5 | 24 | 404 [16.83 | 4 |0.17| 3 |0.13| 7 |0.29| 17
16 |041| %M AL 6 | 28 [471 |1682 | 6 |0.21| 3 |o11| 7 |o0.25] 21
17 |008| =B & 6 | 27 |442 |16.37 | 5 |0.19]| 2 |0.07| 10 |0.37| 17
18 |096| Ex/Il | 4 | 21 | 289 |13.76 | 3 |0.14| 2 |o.10| 5 |0.24]| 16
19 | 056 | L A% 5 | 26 | 305 [11.73 | 4 |o.15| 1 |0.04| 10 |0.38 | 16
20 |004| fREE = 6 | 28 [280 |1000 | 2 [0.07| 1 [0.04| 8 |0.29] 20
018| B/R &M 1 3 | 139 [46.33 | 2 |067]| 1 |033| 2 [0.67] 1
200 @ = 1 2 | 64 [3200] 1 |050| o |0.00| 2 [1.00] O
204| BAR Atk 1 | 4 [106 |26550 | 1 |0.25| 1 [0.25| 2 |0.50| 2
201| #HE =¥ 1 | 4 [100 |2500]| 1 |025| 1 [025| 1 |0.25] 3
024 | ¥H BEF 2 | 9 | 212 2356 | 2 |0.22]| 2 |0.22]| 3 |0.33] 6
079 | A 3t 2 | 5 | 100 [2000]| 1 |0.20] 0o |0.00| 2 |0.40]| 3
202| B K 2 | 4 | 60 [1500]| 0 |0.00| 0 |0.00| 3 [0.75] 1
203 |7=hvz #&E0| 2 | 10 | 147 [1470 | 2 |o40| 1 |0.20] 3 030 7
183| Tk =sm | 2 | 9 | 90 [1000 | 1 |0.11| o |0.00| 4 |0.44]| 5
198 K &N 1 5 |49 [958 | 0o |00o0| 0o |000| 2 |0.40]| 3
017 | #MA HZ 2 | 8 | 77 963 | 0 |0.0o0| 0 |0.00| 4 |0.50]| 4
196| &% =% 1 2 |11 |55 | o |0ooo| o [0o00| 1 [050] 1
108 | %@ A5 2 | 8 | 43 |53 | 0 |0o0| 0 |000| 2 |0.25] 6
164 | =k = 2 | 9 |43 478 | 0 |000| 0 |0.00| 2 022 7
023| @O = 2 | 6 | 28 | 467 | 1 |017] 0 |0.00| 1 [|0.17] 5
199 W #wE 1 3 |12 [ 400 | 0 |000| 0 |0.00| 1 [0.33] 2
166 | Rl A 1 6 | 16 [ 267 | 0 |000| 0 |000| 1 [0.17] 5
179 HA BA 1 5 | 13 [ 260 | 0 |000| 0 |000| 1 [0.20] 4
020| M@HA = 1| 4 0o | 000 |0 [0o00| 0 [000] 0O |0.00] 4
028 | /I =40 1 1 0o | 000 |0 [0o00| 0 [000] 0 |0.00] 1
=t 131 | 554 |11252]20.31 | 117 66 231 323
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